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I have 6 red pens, 4 blue Share £36O in the
pens and 3 green pens. ratio 1:3:
What is the probability of atio 1:3:5
choosing a green pen? uo . lio: m
D
10miles * Wmind? 13
0miks - VW Factorise fully
2
If Emma t.r?v';I‘s%r’niles in20 5Xy +10y.
minutes how many miles will she %(m 15)
do in 1 hour 30 minutes? Expand
5w\ 4(2m+1)8m”_|’
19 20

Without a calculator | Peteinvests £500 at a rate of

work out: 1.5% per year compound
) ’ interest.
160 +5 Find the value of the
02%2 131 investment after 3 years.
Srreo 500 x1- 015 5118k
26 7
What is the Highest Estimate
Common Factor of Qx10. % %ﬁ
119 12218 and 222 Tau
12,4 1 8.6 XxV99.7 5
3 2 434 x 41 V8

circumference of the

C_: Lﬁ om = l$8$w\

WEDNESDAY THURSDAY
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Write 72 as a product of its
prime factors

3.8

circle.
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A LITTLE BIT OF MATHS EVERY DAY ...
SATURDAY SUNDAY
2 3 4
A cube has a surface area of 36cm’
What is the volume of the cube?
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Convert the below
fractionto a %

5500
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Solve Without a calculator Without a calculator Alan, Bob and Carl play football.
Alan has scored 8 more goals than Carl. A48
work out &
2(4X - 4) =4 Bob has scored 5 more goals than Alan.6 €413
M- b 1 537.4 X 4.8 3 x 420 Altogether they have scored 72 goals.
7 How many goals did they each score?
ka6 1539-52 120 3  cren .
C+21:32 3C=S1C=\3 A:2S 8:=30
x|
4 15 16 17 18
Solve Write 4.31 x 107 as an Solve b ;"2 Complete this table fory = 2x - 3.
4.3 y
X+1>X+1 i P
‘ix T 3 ordinary number. factorlsmg. N o 1 > 3 4
2
x)3 0- 00431 X +8x+15=0 B EEERERERE
(2+3)(x¢5)=0
- 3 2= -8
yil 1 y£] ‘EE M 207,318 5
A square has an area Calculate: The nthterm of a — 1007.< 3§
0f 100 cm? sequence is given by Ina sale,'r?ormal prices are reduced by 20%.
. o 3 + 4 3n+5. The normal price of a handbag is reduced by £15
Find its perimeter. 275 Explain why 21is not a Work out the normal price of the handbag.
\5\0 P__ uou‘ l_&_ +l: 3\ I\L term in this sequence. -l-’..’l $
20 10 120 = 3nsS
28 Y
Acircle has a radius of 3:; ; nig mt&lnhdﬂ
3cm. Ps= nomo
Work out the

REMEMBER: THE BEST WA‘I TO REVISE MATHS IS TO "DO MATHS"!
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